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Cluster: 0219 ptr; resid: 0.22; r/c: 19/79

x.range

upstream meme PSSM #1; e=180

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=210

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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10260
10581

12416

35217
35400

35909

36928

42502

43261 44259

45104

45472
45603

45672

45826

46030

46243

51511 59123

string −500 −400 −300 −200 −100 −1
59123NA
36928−0.10
42502−0.33
51511−0.37
35217−0.42
46243−0.44
44259−1.14
43261−1.74
45104−2.41
10581−2.94
45826−3.00
10260−3.56
12416−4.94
35400−5.09
45472−5.92
45603−6.31
45672−6.61
35909−12.52
46030−12.52

log10(P) upstream meme1 2 log10(P.clust)=−3.91; 19 seqs; 19 uniq
c(0.5, 2.5)
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